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Most Likely  Best Case Scenario Worst Case Scenario 

Sales 20*150 3,000 20*150%*150 4,500 20*75%*150 2,250 

Variable cost 20*80 (1,600) 20*150%*70 (2,100) 20*75%*100 (1,500) 

Contribution 

 

1,400 

 

2,400 

 

750 

Fixed cost 

 

(240) 

 

(240) 

 

(240) 

Profit 

 

1,160 

 

2,160 

 

510 

 









 

  

Division A Division B Overall 

ROCE = 
PBIT 

x 100  
PBIT 

x      
100  

PBIT 
x 100  

Total Capital Total Capital Total Capital 

           

 = 

2,558,400 
x 100 

6,497,000 
x 100 

9,055,400 
x 100  

 

31,200,000 44,500,000 75,700,000 

           

 

= 8.2% 

  

14.6% 

  

11.96% 

  

           

Asset 
turnover = 

Sales 
  

Sales 
  

Sales 
  

Capital 
employed   

Capital 
employed   

Capital 
employed   

           

 = 

78,000,000 
  

144,625,000 
  

222,625,000 

  

 

31,200,000 
  

44,500,000 
  

75,700,000 

           

  

2.50 Times 

  

3.25  Times 

  

2.94  Times 

  



Combined Profit Volume Ratio 
= 

Combined Contribution 
x     100.00  

 

Combined Sales 

     

 
= 

(22,500*3.2) + (84,000*1) 
x     100.00  

 

(125,000*3.2) + (350,000*1) 

     

 

= 20.80% 

   



Workings 

 

W1 Sales Ratio  

 

800 : 250 

   

3.20 : 1 

      W2 Contribution 

    

 

Selling Price 

 

125,000 

 

350,000 

 

(-) Variable cost 

    

 

Accommodation 

 

(62,500) 

 

(195,000) 

 

Food and beverage 

 

(28,000) 

 

(46,500) 

 

Entrance ticket 

 

(10,000) 

 

(18,000) 

 

Other variables 

 

(2,000) 

 

(6,500) 

 

Contribution 

 

22,500 

 

84,000 

 

b) 

 

 

W1) Break Even Point in Sales 
= 

Combined Fixed Cost 

 

Combined PV Ratio 

   

 
= 

32,510,400 

 

20.80% 

   

 

= Rs.156,300,000 

 

W2) Combined Sales = (125,000*3.2) + 350,000 = 750,000 

 

Product 
 

BEP Sales 
 

BEP Units 

Standard 156,300,000*400,000/750,000 83,360,000 83,360,000/125000 666.88 

     Deluxe 156,300,000*350,000/750,000 72,940,000 72,940,000/350,000 208.40 

  

156,300,000 
  



a) Direct material 2,500Kg is short for the estimated production.  

 

Product Demand 
Material 

requirement (Kg) 
Total 

Requirement (Kg) 

G1 10000 2 20,000 

G2 9000 2 22,500 

G3 6000 5 30,000 

   

72,500 

Material availability 

 

70,000 

Shortage of material  2,500 

 

 

Product Demand D. Labour (Hrs) 

Total 
Requirement 

(Hrs) 

G1 10,000.00 1.00 10,000.00 

G2 9,000.00 1.50 13,500.00 

G3 6,000.00 2.50 15,000.00 

   

38,500.00 

D. Labour Hours  availability 39,000.00 

 



b) 

 

 
G1 G2 G3 

Selling price 580 850 1,500 

Variable cost 

   Material 120 150 300 

Labour 250 375 625 

Variable production OH 120 180 300 

 

490 705 1,225 

Contribution per unit 90 145 275 

Material requirement per unit 2 2.5 5 

Contribution per material 45 58 55 

Production ranking 3 1 2 

 

 

Accordingly the production plan would be as follows; 

 

Product Production (units) 

Material 
requirement per unit 

(Kg) 
Total Requirement 

(Kg) 

G2 9,000 2.5 22,500 

G3 6,000 5 30,000 

G1 8,750 2 17,500 

   

70,000 

 

 

c) 

 

Product Sales 
Contribution per 

unit Total 

G2 9,000.00 145.00 1,305,000.00 

G3 6,000.00 275.00 1,650,000.00 

G1 8,750.00 90.00 787,500.00 

Total contribution 

  

3,742,500.00 

(-) Fixed cost 

  

(1,425,000.00) 

Profit 

  

2,317,500.00 

 








